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Law ~x & o7t

BH X7xBh

(1) 8+6X5=38 (2) 15+4X8=47 (3) 22+7%X4=50

(4) 85—5%x8=45 (5) 90—7x5=565 (6) 49—-6%X6=13

(7) 38+7%X2=52 (8) 17+8X6=65 (9) 274+9%X6=81

(1) 51—8%X4=19 ) 77—=7X7=28 12 61—9X2=43

O | Vv BHENZS tmea

(1) 22+6X%| 8 [=70 (2) 36+4x%x| 6 | =60
(3) 54—8x%x| 4 | =22 (4) 78—6X%X| 9 | =24
(5) 52+7x | 4 |=80 6) 27+3% | 9 |=54
(7) 40—9%| 3 | =13 (8) 56—7x%| 4 |=28
(9) 92—8X| 7 | =36 (1) 83—9X%x| 6 | =29
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Law ~x & o7t

BH X7xBh

€ :tEELES e
(1) 15+3%x5—10=

(3) 30—2%X9+6=18
(5) 2X4+3x5=23
(7) 24+5X7—14=45
(9) 3X6X3—16=38
(1) 8X5+6X7=82
(1) 7X (8—5) =21

(15 (9—3) X (7—1)=36
(1) 1 X3X5+7X3=36

(19 6BXB6—2X4X3=12

(2) 6BX7—4X3=

(4) 50—3X7+11=40

(6) 4X5+5X4=40

(8) 5X9—-9%Xx5=0

(1) 4%xX10%x24+20=100

(1) 6X4+9X6=78

(1) 6X (6+5) =66

(1) (14+9)x(5+5)=100

(18) 4 X2X6+3X8=72

(200 BX5X4—9%Xx9=39
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8X7+20x2+50=146
x 146—5=141 B2 1418

O I+ 2230HOFU—6ZE 10ADTAEST L,
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30x3+10x5+50=190

& 200-190=10 %% 10M
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# (6X5—=5)+(7x5—-10)=50 %3 504
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(8+4)%x2=24 7x4=28

X 28—24=4 %z IEEAWT.4cm
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A 6X8—10%X2=48-20=28 ®z 282
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A 8X9+3=75 B3 TBE(
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